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Geography
Paper 1II

T

R IECO |
Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A GLAYehd THUT IR (100) FTgaaren Ted ot oTed. Jciesh Jemen & (2)

U1 3Ted. @d U Wred.

As per the J. Tuzo Wilson’s concept | 1. <. Tz fawwa ar=ar armd @i}

of ocean basins, ............. is at juvenile FheUagaI, AT 3T,

stage. :

(A) Red Sea Eg; ﬁﬁg

(B) Arabian Sea

(C) South China Sea (C) =famr forit was

(D) Dead Sea (D) ¥a §H

Assertion (A) : Ocean currents are | 2. Ta&™ (A) : Il ¥a€ § AR 10T

seasonal or permanent unified BT fohal hEHe Thisd Jam8 ST9drd.

movement of ocean water. SHIOT (R) : 9T qalg%g'rgr@:rﬁ T

Reason (R) : Ocean currents are Il IR Bldrd.

driven mainly by seasonal winds. G SV Thaish se o ?

Select the correct answer from the HRdiF

following :

(A) Both (A) and (R) are true and (A) < (A) WZT (13) Wfﬂ%ﬁ S
R) explains (A) (R) ® (A) =@ I TqEH 311%

(B) Both (A) and (R) are true but (B) == (A) A (R) ST Sed Ry
(R) does not explain (A) R) T (A = MkSA TIHT A

(C) (A) is true and (R) is false (C) (A) 3=h e AU (R) I 38

(D) (A) is false and (R) is true (D) (A) Ik g A0 (R) 3T 3R

Which one of the following solute is | 3. ®IallcTdsh! HITA HHST=AT ATOATIA

major gomponent by weight in sea e 99 Udh 3 2

water 7 TR ng_g

(A) Magnesium chloride (&) ~ o

(B) Sodium sulphate (B) Hvllsdm Hehe

(C) Calcium carbonate (C) whfcwrsm eite

(D) Sodium chloride (D) Hifesr FIES

[P.T.O.



................. deposits are found between
the high and low water spring tide

lines.

(A) Littoral

(B) Shallow water
(C) Bathyal

(D) Abyssal

Consider the following statement(s)

related to the ocean acidification.

(I) Itis aterm used to describe the
changes in the chemistry of the
World’s seas, primarily as a

result of burning fossil fuels.

(IT) The CO4 in the water, which
leads to the formation of
carbonic acid, has caused the
pH of surface oceans to fall by
0.1 units, and it is projected to
fall a further 0.3 — 0.4 pH units
by the end of the century.

Select the correct code :
(A) Only (I)

(B) Only (II)

(C) Both (D) and (ID)
(D) Neither (I) nor (II)

JUN - 36219/I1—B

SETOAT A=A 591 ATT01 f997 raesi=n

.q.a ................... {'i'qq:‘l 3Seadrd.

(A) 3T

(B) 3¥es U
(C) TR
(D) faaet=

TR AR d Tl faem
foamm@ =0 .

1) H&aq: SERA SEA=Al Seva™
SR FY&1 roaTd TR 9ed
TFEd JvITAr B AT ATIAT
ST

(I1) 9TvIT HTad STHSTFITSS ©
FeieR ST FHTE ROy 3t
ITHes T o=t 919 0.1 Teheh™
E e S N RE D | B
| 0.3 — 0.4 Theh STOTET HHT
0T IS TS

Iy Hehareh fEe

(A) & (D)

(B) ®d (1)
(C) Sl (1) =7for (1D
(D) () & g (1) & et




In deep sea, more regular waves

with rounded wave crests are called

(A) Seiches
(B) Swell
(C) Clapotis
(D) Tidal

Assertion (A) : Salinity of the
ocean water is not same everywhere.

Reason (R) : Salinity of the ocean
surface is exclusively controlled by
temperature.

Select the correct code from the
following codes :

Codes :
(A) (A) is true but (R) is false

(B) Both (A) and (R) are true but
(R) is not the correct reason

(C) Both (A) and (R) are true
(D) Both (A) and (R) are false

Generally seamounts are having
relief .............el. meters above

reference surface.
(A) 300-500

(B) 500-700

(C) 700-900

(D) > 900

JUN - 36219/II—B
Tl SR e Hafia STifor MR
TORMS ST T 3/ Ui
(A) T

(B) =

(C) =wAqEH

(D) SRt-3TEE

faam (A) : 9P UIOIET TR 9o
URE 9.

&RUT (R) : 9 Yo &RAl ek

o te

GIREIEIEC IR IE AR
Hehdiah :
(A) (A) % 3TgH 38 g (R) I TR

(B) T2 (A) 371 (R) 379 3Ted g
(R) ® Img SR &l

(C) =l (A) =for (R) o< 3Ted
(D) T (A) 3ufor (R) 9= oTd
T JEarHTeR WA YSRT WIERT S

(A) 300-500
(B) 500-700
(C) 700-900

(D) > 900

[P.T.O.



10.

The oceanic crusts are mainly

composed of ................... type of

rock.

(A) Andesite

(B) Granite

(C) Basalt

(D) Mud

Match the following :
Ocean bottom configuration
(@) continental shelf
(b) continental slope
(c) ocean deeps

(d) deep sea plains
Characteristics :

(1) Covers two-third part of the

ocean floor.

(2) Depths between 3000 and 5000
fathoms

(3) Off broad low land coasts

(4) Abrupt change of gradient
(@ B (@ (@

A @ @ @O @

B O @ @ O

< B @ @ @

O @ B @ @

9.

10.
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AR ehad § H&Ad:

TRRA] TEHMI el 3R,
(A) sfdErge

(B) ¥TEe

(C) SEiee

D) &

Tt Siedl Jeodl :

AR T8 TS :

(@) TEE HF

(b) e SR

() Hr feraeit=

(d) ©a FRE e

EIE

(1) IR oo SF-qarareT | ST

(2) I wWiet 3000 d 5000 HEH=AT
M 3.

(3) HEd foagga A <.
(4) AN STaHR Q.

(@ b)) @© @
Aa @ @ @O @
B @1 @ @ O
< 3 @ @ @
D @ G @ @




11.

12.

13.

Endangered species are those which

have lost % of its

population.
(A) 50
(B) 60
(C) 65
(D) 70

Some parts in urban areas tend to
be warmer than their surroundings

is known as .............

(A) Lapse rate

(B) The venturi effect

(C) Urban Canopy layer effect
(D) Urban heat island effect

The complexity of any food web does
not depend upon the ...............

(A)

Diversity of organisms in the

systems

(B) Length of the food chain

©)

Homogeneity of organisms in

the systems

(D)

Alternatives at different points

of consumers in the chain

11.

12.

13.
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AU USIdl  SAed Sl SAae

%o THEEAT THIEC! 3T
(A) 50
(B) 60
(C) 65
(D) 70

STEXAIe ShT&! T <=l HHTerdeT=
mﬁ&n 3I60T 7EAd I 34@
FRUTdTd.

(A) wITeX

(B) =gl uRomm

(C) vl e &R aRumd
(D) &l 3eUrl e 9o

RV A o] foeTsedr SIMaR
ST THd ?
(A) FEdie Sfaren fafaga

(B) ST=THREIGS=T oATsll

(C) TEIdTA Sem=l TehEHH

[N ol o (a

(D) vereht=an fafay fasron

Rl gaig

LN
S

[P.T.O.



14.

15.

The amount of plankton to be found

in the ocean is not determined

(A) Depth of the water

(B) The ocean currents

(C) Temperature and salinity
(D) Length of the day and night

It was emphasised by India that
‘The removal of poverty is an
integral part of the goal of an

environmental strategy for the world

(A) U.N. Conference on Human
Environment at Stockholm,

1972

(B) The Vienna Convention for the
Protection of the Ozone Layer,

1985

(C) Preparatory Committee

Meeting, Geneva, 1991

(D) U.N. Conference on Environ-
ment and Development, Nairobi,

1992

14.

15.
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TR 3T@eBUT=AT Tidehrel JHIOT

o5 Ffv=a e
(A) oA @i
(B) @RI YaTg

(C) qUHH o &Ra

(D) feom 9 = I= @t

‘T e @1 STTEeE gEteRiy

FElad B qUiaE STVl SR
&L AT AT 3R 3 HAATh e
FERfEd A ST, d /S ?

(A) e qAERY Feid HIeR TR

TReg, Wishe™, 1972

(B) =iz TR G feguw

Afeay™, 1985

(C) Taael swfadt fadim, fSmeer, 1991

(D) TR § foeht Aedia Tge eI
i, e, 1992




16. Study dealing with the relation of

17.

individual species to its environment
is known as ...............

(A) Synecology
(B) Autecology
(C) Community ecology
(D) Population ecology

Match the List-I and List-II and
select the correct answer from the
codes given below :

List I
(@) Carbon dioxide
(b) Methane
(¢) Nitrous oxide
(d) CFC

List II
(1) Fertilizers
(2) Fossil fuels
(3) Paddy fields
(4) Liquid coolants
Codes :

(@ b)) (@ (@
A & @ @ @
B 2 1 G @
< & @ @ @
D 2 B QO @

16.

17.

JUN - 36219/I11—B

S G A=A TATuTST STH0T=1
Y] AT U

(A) feraRrarst

(B) sffeamrarsit

(C) wHer™ ufifyd! faam
(D) Sewen ufikfeerdt famm

IR F ARI-I1 A= Sed S[ead
TTelial Hehdiehqd ard wag faer -

ret-1
(@) FEA SRS
(b) faeq
(c) ILH AHES
(d) Hruw.
Tret-11

(1) @d

(2) Stared guF
(3) W &
(4) 39 e
Hehdlah :

@ b)) @© @
Aa 3 @ @ @
@ @ @O B @
e 3 @ @ @
D 2 B QO @

[P.T.O.



18.

19.

20.

Ramsar Convention’ is mainly

known as the convention of ..............

(A) Wetlands of International

importance

Hilly Forests of National

Significance

(C) The law of the seas

(D) Hazard waste management

Deep ecology does not support :

(A) Continuing inquiry into the
appropriate human roles on our
planet

(B) Root cause analysis
unsustainable practices

(C) Enhancement of human

consumption

Conservation and restoration of

ecosystems

Assertion (A) : One of the main

objectives of the Central Pollution

Control Board (CPCB) is to

coordinate the activities of State

Pollution Control Boards and resolve

the dispute among them.

Reason (R) : The CPCB is the

international board and has a

central office as well as a network

of zonal offices located in various

places in the world.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

Both (A) and (R) are true and

(R) is mnot the correct

explanation of (A)

(A) 1is true but (R) is false

(A) is false but (R) is true

(B)

of

(D)

(B)

(©)
(D)

19.

20.

JUN - 36219/I1—B

A e S

(A) AT el qoiges

(B) U™ A=l SRS oA

(C) 9rd frad

(D) ©rdeh el HEATIA

qelial Iifeudiat wemd gred 3q

Er ?

(A) 3TTIe TRERIa 97 Ae YfHehT=t
HIacqul  Tarof

(B) 3WTed fsai=an &R 9@
GYFh T

(C) Al ToRd SR HIdqul e

(D) aREer= Fagq onfor gaeeed

faem (A) : 5 ygu frRE He e

e Sfewieal Th RS T Ygu

T Aearen fham T o iy

AN o FReRTor .

SHIUT (R) : hald Tgu e wew

T MW Hees 3R 9 & Hhald

e oA Sa fafay fowmof feem

fauria sEeae e STR.

TTeATcTdeh! hIUd sRs 378 ?

(A) <&t (A) 9 (R) 319 39H (R) ®
(A) 9 I TIEIH R

(B) <=l (A) 9 (R) 319 37T (R) B
(A) T I TEH TR

(C) (A) 3g® e g (R) B I
EI

(D) (A) T 3T T (R) ¥ 3% 3

10



21.

22.

Arrange the following stages in the
history of demographic transition in
sequence using codes given :

(1) Low birth and death rates

(2) Decline in both birth and death

rates
(3) High birth and death rates

(4)

Decline in death rates while
birth rates remain high

(3), (4), (2), (1)
3), (2), (1), (4)
(D), (2), (4), (3)
(D), 3), 4), (2)

Consider the following statements
and select the correct option from the
codes given :

(A)
(B)
©)
(D)

(1) A primate city is usually a
disproportionately large city.

(2) A primate city is the one that
is invariably a religious centre

(3) A primate city is exceptionally
large compared to the second
largest city

(4) India has primate cities.
Codes :

(A) (1), (2) and (3) are true
(B) (1), (3) and (4) are true
(C) Only (3) is true

(D) Only (1) is true

JUN - 36219/I11—B

91. feoiean Gehdieh=1 STIEA Ah&EAT HehHTl

22.

staear et w9 e :
(1) = S A g
S SO Yo T AT S W

I WA S0 g
FEd Heg S T 3= fgerell ST &2

(2)

3)
(4)

A) 3), 4), (2), (1)

(3), (2), (1), (4
(1), (2), (4), (3)

D) (D), 3), (4), (2)

wrefid fau fo=amma =1 oo wrea
TehdeeHyd 4 e faEer

(1) U I T GHE=U0 1id I
3.

(2) WU IR WIS TH fHd &3
3TR.

(3) T Hald Hicd! eI o Th
ST TTE STUARIHR IO HIS STHd.

(4) 9RAT ST TR 3
Hehdich

(A) (1), (2) =707 (3) & S&X 3Mea
(B) (1), (3) =M1 (4) SR 3Ted
(C) e (3) S&X 38

(D) ®H (1) TR 3T

(B)

€

11

[P.T.O.



23.

24.

Which of the following factors does
not alter the total size of the

population of a country ?
(A) External migration
(B)

Internal migration

(C) Higher fertility compared to

mortality

(D)

Refugee migration across the

border

Which is the most densely populated

regions of the world ?

(A) Equatorial region

(B) Tropical region

(C) Temperate region

(D) Sub-Arctic region

23.

24.
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AIMAT THY  AREEIA AR

T sh! HIVAT HTHIHS dgard

& ?

(A) IR TR

(B) 3Taid Tl

(C) FIU=AT doiid I=d SR

(D) 9H1 3faien faifadr

=N

ST Het{eeh ThE@AT S dl A

IO T AR ?
(A) fauaea wew
(B) Swihfeaia wauT
(C) HwRftreor wawt

(D) SU-3TfRa W9l

12



25. Match the following and select the
correct answer from the codes given

below :
List I
(Types of Age Pyramids)
(@) Stationary
(b) Progressive
(c) Regressive
(d) Bell shaped
List II
(Characteristics)
(1) Low birth and death rates

(2) Unchanging fertility and

mortality
(3) High birth and death rates

(4) Declining birth rate and low

mortality rate
Codes :

(@ @) @
A @ @ O @
B) 2 @ G @
e @O Q3 @ @
D) 2) B @ @

JUN - 36219/I11—B

25. @eld Siiedl Seedl 3T Trett feered
Hehdlehyd Ard I e

Fret-1
(T funfue g&r)
(@ fer
(b) WAt
(c) TRMH

(d) ¥ 3THR
qrat-11

(TTuTatITS=)
(1) HHT S A g

(2) TR JSA&EA T g
(3) I=9 S WU I <L
(4) =edl S T M0 HH FI X
Hehdich
(@ B (@ (@
Aa & @ @O @
B @ @ 6 @
e O 6 @ @
D 2 B @ @

13
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26.

27.

Assertion (A) : High birth rates

display large proportion of

population in younger age groups.

Reason (R) : Industrialization has
been a factor in bringing down

fertility rate.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true, but

(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Which is a small settlement usually
characterized by a single economic

activity ?

(A) Hamlet

(B) Village

(C) Rurban Centre

(D) Urban fringe village

26.

27.
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Taem (A) : 3=9 ST Ahg@dra g

FAEE ST JHT0T 9fdd skl

FHIOT (R) : NIRRT B ST JHIT

el S0 HEweal ¥ Sl ..

Hehdih

(A) (A) 30T (R) ST SRR 31T (R)
T (A) ¥ T fawcm o1e

(B) (A) 3701 (R) Tr=ral alek g (R)
T (A) 3 I favaww @

(C) (A) R TG (R) I

D) (A) I% TG (R) 3=

ha o

nlVld

snfefer  foRam

ARl Uenl

IfTERd helell TH
(A) t/areEt

8 aHed 3T ?

(B) &
(C) UMH-T&d &g

(D) IEE Y9 TE

14
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28. Physiological/Nutritional density is 28. IHfaw/dEW T ST ¥
calculated as :
(A) Number of people per square (A) ufg =RE Tﬁ T SR
unit of land
(B) Number of people per square (B) ufd 9RE TdHE e cAlhaEd
unit of farm land
(C) Number of farmers per unit of (C) Wi SN SaSHH T AR T
farm land
(D) Physical carrying capacity of
land (D) o=l Urkfaer  emoTerad
29. A bulge in population pyramid | 29. e frifreaesd © wee gl
indicates : H
(A) Unusually high fertility or (A) TIARAT THEGS STHATIIY] 3%
mortality or changes in YA foha G foha Aieheied
population due to effects of EINIE ]
migration . .
. (B) 4= Tohal gwhies A= qRomH
(B) The effects of war or famines .
.. . (C) E=UY dAehaeEdl Iy a
(C) That the population is ageing e SR
at an unusually fast pace
(D) That females join the workforce (D) SR ;
in large numbers
30. Ageing at the base occurs ............ 30. 9ANIdes T LT T30
(A) When J?he proportion of the (A) SR YSHASTHA=A] Hedqes T
population in child-age groups 0
remains constant due to fertility FANERIT Tehaedd JHTIT e Ted
decline .
(B) When child mortality rate (B) w1 sergeI i e
shows distinct decline (C) Sea1 SSiAemal HHt 81 anfor T
(C) When fertility declines and new g e
birth cohorts are smaller than il
Previous ones (D) SR FRER FIe Aehld Jidl 96—
(D) When great fluctuation is seen frgam
in successive age cohorts S
15 [P.T.O.



31.

32.

33.

Which cost is incurred in the process
of moving and which are principally

made up of fuel costs and wages ?
(A) Overheads cost

(B) Transfer cost

(C) Line-haul cost

(D) Comparative cost

Which of the following is the correct
sequence about the wind-energy
producing countries of the world in

descending order ?

(A) Germany, Spain, USA, India
(B) Spain, China, Canada, India
(C) USA, Australia, Spain, India
(D) India, Spain, USA, Germany

Alfred Weber identified three factors
that determine the location of

industries :

Transportation, Labour Costs and

(A) Least cost
(B) Agglomeration
(C) Location of competitors

(D) Maximum revenue location

31.

32.

33.

JUN - 36219/I1—B

SHITdT T TaHHa=aT Jiehad =i dedl
30T AT A $8F T« o H9d arel
THEYT TFal ?

(A) R Td

(B) &Il @
(C) ™ W wd
(D) oA T

o

[aV
el |

N oY N e
Al SsUldiet qRll=Al dlg Sl

IARATIR I Il ShHA Il ?
(A) S, ¥F, J.TE.T., 9Rd

(B) ¥, =, &SI, 9rRd
(C) J.ua.U,., Arfean, ¥4, wRd

(D) ¥Rd, €4, JTEC, SHAT

e Je AT TN TATHh Ieh o=l

(1

TR L0T HILOM 11 T2k INeA. AT

aTeqeh, AR @Y d

HHET Bl

(A) 319 Td
(B) gt

(C) wyicHs T

(D) wH Haga! €&
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34.

35.

36.

Which of the following countries,
whose economy is entirely dependent
on the production of petroleum ?

(A) Kuwait
(B) Venezuela
(C) Iraq

(D) Iran

Which of the following statements
is not correct about Nomadic
herding ?

(A) It is a form of intensive

subsistence agriculture
involving the grazing of
domesticated animals on

natural pastures

(B) It is practised in large belt of

arid and semi-arid lands

©)

It is an aboriginal form of
livestock raising

(D) Nomads select the type and

number of animals for the herd
according to local, cultural and
physical characteristics

The Union and Pacific Railway
connects :

(A) New York to San Francisco
(B) Halifax to Vancouver

(C) Paris to Istanbul

(D) Perth to Darwin

34.

35.

JUN - 36219/I11—B

BICHTeUeh! ShIVTET QT STeferaee quid:

TSIfTaT= ST SeRa o7 ?
(A) F3

(B) segat

(C) ==h

(D) =T

Tt HIVA oo™ vesd 93-

qIeTTeed a7 et ?

(A) T @A IUSifaeher I WEY
3T 9T edia UToft Jafifer spTomeaR
AT

(B) & Y5 o 21fysh Hidiel Hic
YA shel SIId

(C) T URIUEGH STfcH WEY 318

(D) & CAIHI=A HeUdles U=

Yeh R F T It ae T,

HREpiaeh ST WTehideh TUIEHITER
L
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317.

38.

Which of the following statements
is/are not correct ?

(@) V. Nath divided India into 15
macro regions

Ashok Mitra divided India into
5 macro regions

Prakash Rao and L.S. Bhatt
divided the country into 7
macro regions
Chandrashekhar divided India
into 13 macro regions

(a) and (d)

(B) () and (c)

(C) (a) only

(D) (d) only

Select your answer from the codes
given below :

(b)

(c)

(d)

(A)

Assertion (A) : Balance of trade
records the volume of goods and
services imported as well as exported
by a country to other countries.
Reason (R) : If the value of exports
is more than the value of imports,
the country has a negative balance
of trade.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true, but
(R) 1is not the correct
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

€
(D)

317.

38.

JUN - 36219/I1—B

ETATIdeh! ShIvd faeam ek AR ?
(@) . TG A IRATE 15 F&d J<Tma
faurmeft s

3TeieR T At vRar= 5 9%
weuma faammf et

ThIRIE o TA.TH. Hg AT WRars
7 9Ed WeIMA TavmToR et
TSR’ AT qRaret faumi 13
& YW hedl

(a) 30T (d)

(b) A (c)

(C) ®xd (a)

D) s (d)

faeam™ (A) : wEmEn e gEE Qi
STl A ArEaieay At
SMHRAMRET Hig SATIRAET 2.
HIOT (R) : S TR Ted § STEmd=
TEATIE SR 3TE, 1 QU ARG
Euc)

Hehdloh :

(A) (A) F (R) T ssR 3fred fur
(R) ¥ (A) ¥ 3T TR 3.

(B) (A) @ (R) T s{IeX 31ed g (R)
T (A) T ITH TICR AR

(C) (A) T =R 38 W (R) T I 3T
(D) (A) T gH 1 W (R) § K 3T

®)

(c)

(d)

(A)
(B)

18
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39. Which of the following statements | 39 @it afq A= fagTa HeHrda
about Von Thunen’s theory is not F fIUE a2
correct ?

(A) ST MBS qHeha! aes-1 ard
(A) According to Thunen’s model
o 0811511 N o > Mo o B
concentric ring-I has market
gardening and milk production (B) <=1 YIRS Tl qiwII
(B) Thunen’s models concentric I TG AThHE d AThE Hgeh A
ring-II has firewood and lumber I B
production . .
(C) HAT=A1 Ireyrdict |HHehgl aqos-111
(C) Thunen’s model concentric ring- -
RINEENCIGE N CINE SIS N
III has livestock farming
D) AT WIEURd qHhST agqe-IV
(D) Thunen’s model concentric ring- ! g
IV has food crop farming with A ST W I 5 T S
fallow land @

40. In year 2016, which one of the | 40 g7 2016 #eh, Wrehctet HOT= A
following has the higher rank in R Fwia S S0 @ 2
Human Development Index ?

(A) sfietem
(A) Sri Lanka
(B) Bhutan (B) ST
(C) India (C) wrd
(D) Bangladesh (D) TR
19 [P.T.O.



41.

42.

Assertion (A) : Tribal people in
India are generally concentrated in
relatively inaccessible parts of the
country.

Reason (R) : All the tribal people
in India practice shifting cultivation

Which of the following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is correct

The National Health Policy (updated
in 2017) focuses on which of the
following ?

(B)

(@) Growing burden of the non-
communicable diseases.

(b) Emergence of robust health
care industry

(c)

Growing incidences of catastro-
phic expenditure due to health
care costs.

Codes :

(A) (a) and (b)
(B) (a) and (c)

(C) () and (c)

(D) (@), (b) and (c)

41.

42.

JUN - 36219/I1—B

faam (A) : YRAE eTfeardt s
Y=Id: IIMEA qolid STeart ()
qMTHEY whigd STea.
THIOT (R) : YRAS 99 AfGart e
forenfoq 91t LA

ETATAdeh! hivd Sk A8 ?

H@H‘I%H :

(A) (A) 371 (R) SaIE1 sRIeR 37T (R)
T (A) 3 g% Towamm o

(B) (A) 3Tft1 (R) Sralal aIeR 3TIfeT (R)
T (A) ° ofg® fowersor @t

(C) (A) R |G (R) I

D) (A) % W (R) R

TS ST R0 (2017 HEA e
HATER) TeAcTieh! HIMEX ALl g
wd ?

(@) STHhiAd
(b) TR o IR S JHOMA

Bl

(c) RTE ar=a @dHes SIS
T Hetel! o6

Hehdich

(A) (a) o (b)

(B) (a) A (c)

(C) (b) AU (c)

D) (a), (b) 3 (c)

(Mo’ STIedT SITHTeR
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43.

44.

Select the correct option(s) for the
statement from the codes given

below :

A region is more diverse culturally
if it :
(@) has homogeneous population

composition

®)

has heterogeneous population

composition.

receives voluminous in

(c)

migration.
(d) 1is geographically isolated.
Codes :
(A) Only (@) and (b)
(B) Only (b)
(C) Only (b) and (c)
(D) Only (¢) and (d)

Which boundaries result when a
smaller state is absorbed by a larger

one ?

(A) Relict

(B) Superimposed
(C) Subsequent
(D) Antecedent

43.

44.

JUN - 36219/11—B
Trel!l feoed HehdihMyA ek faum
Tt .

T 35 R e 21fYeh Sfaregol o/
SRl

(@) THTHH AREEA T 3T

(b) fafay edEn AT S

(¢c) gl HISITIHUNG Sieeddial I

E2G|
(d) Seg driferergsen favea o
Hehdih
(A) ®H (a) AT (b)
(B) & (b)
(C) & (b) AT (c)
(D) ® (¢) 3 (d)

Segl oeH TSI WS U9 fadhd &
JR1 ot e ol @ 2

(A) eI
(B) =R
(C) Sugad
(D) geiigerdit
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45.

46.

47.

Who has divided the globe into

Geostrategic realms ?
(A) Bassin
(B) Cohen
(C) Kjellen
(D) Parker

Harlan Barrows in the 1940s, for the
first time proposed which term that
the of

how human responses to the

encompasses study

environment reflect the specific
composition of the culture group

involved ?

(A) Cultural Geography
(B) Cultural Ecology
(C) Cultural integration
(D) Cutlural diffusion

Which of the following is a rich
source of data on the caste Hindu

Population ?

(A) 1921 Census
(B) 1931 Census
(C) 1941 Census
(D) 1951 Census

45.

46.

47.

JUN - 36219/I1—B

o

SUIEiEAll

D

Helt ?

(A) &
(B) =i
(C) e
(D) TmhT

JEHRer Rueames faurof

ha NI A

1940 TEA B RIS AT JEAITad Shetetl
Heheudl HIVET AT SAHE TIERoTS
Tt gfade w9 gHIfase A A=t 9
I ol R 2

(A) WrEpfas
(B) Orpfas ufikfrafdent

(C) WEHiddh ThIHD IR

(D) WiEhfds TER

TG-S STHT AREEHIE! Eeiietish]

FIUET S WY B AR ?

(A) 1921 SIOHT
(B) 1931 SO
(C) 1941 SO

(D) 1951 ST

22
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48. Santhals are predominantly found | 48. AT WTEA WAl Shivfeel T
in which part of India ? Seadrd 2
(A) Northern (A) W
(B) Eastern (B) wi=
(C) Southern (C) =feuit=
(D) North-Western (D) arFex
49. The presence of Baruhi, Kurukh- | 49, IW YRAKN d&e!, HE@-HAFT 0T
Oraon and Gondi dialects in North I G U S — @é@llt{l ——
India suggests the earlier stage of
'éIUIIa‘?II wﬁ Ll <Y rﬂd ki ?
destruction of which family of s R\
languages ? (A) ST=EI-3niTies
(A) Austro-Asiatic
(B) st
(B) Dravidian
(C) H-faafesm
(C) Sino Tibetan
(D) Indo-European (D) 3@—3
50. Which is not a characteristic of | 20- eTeush! HEFAT v ﬁllaiﬁlﬁaﬂ
culture ? | ?
(A) Culture is hereditary (A) F&Hdl & ST o
(B) Culture is dynamic (B) W&hdl & TIfaeh 3T
(C) Culture is adaptive (C) F&hdt & AHfcd 3/
(D) Culture is symbolic (D) E’@w_«-ﬁ IR IREAR:E I Ee |
23 [P.T.O.



51.

52.

Assertion (A) : Ritter’s concept of
organic unity in nature was based

on the principles of divine creation.

Reason (R) : Ritter was teleological

in his approach.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) is not the correct explanation

of (A)

(C) Both (A) and (R) are false

(D) (A) is true and (R) is false

Which of the following is not correct

with reference to post-modernism in
geography ?
(A) Scepticism towards grand

claims

(B) Rejection of Metanarratives or

grand theory

(C) Deconstruction as a mode of

critical interpretation

(D) Use of binary classification

51.

52.

JUN - 36219/I1—B

el (a}

Stfaeh Tt X

faam™ (A) : Fda
Bt

&HROT (R) : e amn gfeswm Soam]

2.

Hehdiah :

(A) (A) for (R) TIEIET sIsR 310 (R)
T (A) 9 3w fowamm oMy

(B) (A) 3Tft1 (R) Sraldl aeR 3TfeT (R)
T (A) T IF favawu @

(C) T8t (A) 3nfor (R) g T

D) (A) 319k 9 (R) I

TATHA S-S ehaTaTG oAl ST

WreAeAden! o faam ssrR Ard ?

(A) 99 TIHEEA HIEER

(B) HaI-uremcAss fomenr Us fogmamn
THR

(C) Wewaqul faveiov= T HIEH ®UH
faEream= I

(D) fg-Seahia iR Lum=l TR
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53.

54.

Which of the four geographers are
credited for having re-established
integrated

geography as an

science ?

(A) Elisee Reclus, Ferdinand Von
Richthofen Alfred Hettner and
Vidal-de-la-Blache

(B) Friedrich Ratzel, Arnold Guyot,
Alfred Hettner and Vidal-de-la-

Blache

(C) Friedrich Ratzel, Ferdinand
Von Richthofen, Alfred Hettner

and Vidal-de-la-Blache

(D) Friedrich Ratzel, Ferdinand,
Von Richthofen, Alfred Hettner

and Otto Schluter

Arrange the following philosophers
in ascending order starting from

their periods :
@)
(z1) Thales

Eratosthenes

(i11) Aristotle

(iv) Herodotus

A @& @ @) Go)
B) @ @ Gv) @D
(C) @ G @) @
D) @) @) @) G

53.

54.

JUN - 36219/I11—B

YFTet T CehifeAeh o evf greeifoa

FHIOITHS! R TR ARRA 5

oot Stma 2

(A) T s, wieTe-n-RedtA,
HeHS IR M fegesra-<i--
STIT

(B) Helis g, siHles AR, 3The

TR emfo fRea-gr-an-samsn

(C) Helew o3, wiéae-ar- fam,
ATHS TR MY fgea- Et-ol-

AT

(D) helle e3d, hieTe-ar- fed,
ITHE ST MU A TeX

T A eaehiAl =T THEhTATTER

gl UM HIEl

() el

(i) od

(iii) T

(iv) TEEE

A @) G G Gv)
B) G) @ G Gi)
©) G) Gv) GiD) G
D) Gv) G) 6 Gid)

25
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55.

56.

Which of the following refers to the
belief that geography and history
are methodologically distinct from
other systematic sciences because
they are peculiarly concerned with
the study of the unique and the

particular ?

(A) Positivism

(B) Humanism
(C) Radicalism
(D) Exceptionalism

In reaction to whose work,
Hartshorne wrote several articles
and finally the book, “Perspective on

the Nature of Geography” ?
(A) Ackerman

(B) Haggett

(C) Sauer

(D) Schaefer

55.

56.

JUN - 36219/I1—B

WTATeAeh] e 3791 TRt hrea &1
IrlieT ST 3faer 3o’ Tgasi faam g

JHEAM 9Tl 3TRd ol d fasren:
THHa o fafyte st wefyd
Ied ?

(A) TR
(B) HMEAAdER
(C) uRadare

(D) ITYARICHRAG

IV I Ffdfhal U Jesi

o~

ek @ feafset smfor et ** e

EUEE gites ' 3T Y fafee ?
(A) SRt

(B) &

(C) |

D) IH

26



JUN - 36219/I11—B

57. Which one of the following does | 57. [ameld @efiaiden! FIVAT TH §§
not represent a dichotomy in Tyfad e ?
Geography ?
(A) Yrhfaes sTfor wet
(A) Physical and Human
(B) Ustehta Tfor Ufceiieh
(B) Political and Historical
(C) Regional and Systematic ©)
(D) Quantitative and Qualitative (D) FEATHE S TUlcHeh
58. Humboldt studied the rocks of the | 58. THilTed SiEIS=a1 Uaai=al TEHAI
Andes mountains and disproved the I el AT ST ATSeed 99
earlier theory of sedimentary TR w@Rd sTaET T
origin of all rocks proposed by )
whom ?
(A) Werner (&)
(B) Buache (B) g
(C) Busching (C) ¥ R
(D) Davis (D) <=
59. Who in 1905 clearly expressed the | 59 =it 1905 &3 oyt @S geafte 37
logical arguments concerning the T i TERETE e o
place of the Earth’s body in the field 23 9
of Geography ? '
(A) Ritter (@A) R
(B) Hettner (B) TR
(C) Sauer (C) §I:|
(D) Richthofen (D) fosareA
27 [P.T.O.



60.

61.

While Davis’s concept projected
geography as the study of man-land
relationship from a deterministic
perspective, who viewed geography
as the study of covariants of human
distributions over the earth’s

surface ?

(A) Hettner
(B) Ratzel
(C) Richthofen
(D) Schulter

Read the statements and select the

correct option given below :

(1) EMR travels at the speed of

light

(2) EMR cannot pass through

vacuum

EMR has two fields : Electric

and magnetic

3)

(4) The wavelength and frequency

are proportional to each other
(A)
(B)
(©)
(D)

(1), (2), (3) and (4) are true
(1), (3) and (4) are true
(1) and (2) are true

(1) and (3) are true

60.

61.

JUN - 36219/I1—B

Sfoem=a Focd 18 Yafud &l &I
Thel oS Feazereren gfteshmrg
e -STHIA GaumE 319, Eeierdeht

IO el gel=a1 JSYTTeR Il
foaomr=n TeaerEn 1 e WA et
e ?

(A) 8T

(B) ¥

(C) Tzdre=

(D) X

Treita aeRmMdia seR 91 e
(1)

forRageental SUTERH & FeRTRIT=a o
BIERIN

o : o (o bV (aV
fa[agerehIa TUIhH & TehadIqT ST

Iehd AT
fagagasa Juiea™ faga =

T &3 STHAT

(2)

3)

(4) TUTAST 9 IRATRAT & ThHh]

HHIUTH G SHHdld
(A) (1), (2), (3) T (4) 3T 3Ted
(B) (1), (3) T (4) 3T<H 3
(C) (1) = (2) Tk 3Ted

(D) (1) 9 (3) 3T TR
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62.

63.

Read the statements given below

and select the correct option :

(@)

Vector data has complex data

structure than raster data

®)

Vector data is not compatible

with remote sensing images

Vector data is efficient for

(c)

network analysis
Codes :

(A) (a) and (b) are true but (¢) is

false

(B) (@) and (c¢) are true but (b) is

false
(C) (a), () and (c) are true

(D) (b) and (¢) are true but (a) is

false

Distance between isotherms

indicates :

(A) Temperature gradient

(B) Pressure anomaly

(C) Temperature lag

normal

(D) Deviation from

temperature

62.

JUN - 36219/I11—B

Tca faemda o faum sier
AR ?

(@)

StTest gfqamr=t 9= & gfewn

FfaamTIe fRTse e

STt gfaA™ § ggy HaAgAT=A

TR ST ST&Y 3T

STeiesien faversomyed Sedt WiqH
T S ey e

i
(A) (@) @ (b) 3T 3R U (c) Ik
3

(B) (a) 3TV (¢) 3= 3T&d 991 (b) Teh
3T

(©) (@), (b) 3T (¢) 3T 3T
(D) (b) (U (c) 3T 3TMed T (@) Th

®)

(c)

(A) dMYHMARET €l

(B) <Tem= STt

(C) dTIHMT= gY=rdl

(D) FHM= ATIAEETIA  forere
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64.

65.

Altimetric frequency curve is used

for :

(A) Computation of population

distribution

(B) Computation of pressure

distribution

(C) Computation of rainfall

distribution

(D) Computation of elevation above

sea level
Interpolation of contours refers to :

(A) Drawing contour lines on map,

when spot heights are given

(B) Measuring gradient along with

contour lines
(C) Interpretation of contour lines

(D) Joining contour lines for specific

application

64.

65.

JUN - 36219/I1—B

ST IRARAl gl aTR ¢

(A) RS fIaUu= HISTHY Sh0ara

(B) &= faaRuma HISEY Hvae]

(C) g faaeome AisEY SHIoamEme

(D) FHZHUTE qrgA THE HISHTY

HITITETS

gH=RE STA9yH WU

(A) T ITARITHR FHEALHT THTIIER

IR

(B) GHI=RUER @3 HISTol

(C) FHREITER STAAvH 0!

(D) fafsrse TS TH==RE SIS0
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66. Read the statements given below | gg @i faumdar arg faum faer -
and select the correct option ?
(1) <& o 41 =1 Sdes 34d
(1) Strong correlation is when the
o A Ie9 TeHe Y 1A
values are close to ‘+1
(2) The value of ‘0’ (zero) represents (2) 0 A THEHaY c¥ifad
no correlation ..
(3) ‘~1’ =1 SiFesd o 3T Hegay
(3) The value close to ‘~1’ represents
Teifad
weak correlation
(A) Only statement (1) is true (A) W f5E (1) s e
(B) Only statement (3) is true (B) Wk faum (3) 19k 3R
(C) Statements (1) and (2) are true (©) faum (1) snfor (2) e T T
but (3) is false
(3) =k M
(D) Statements (1), (2) and (3) are
true (D) faerm (1), (2) snfvr (3) e e
67. Which of the following would be best | 67. @ITciiciueh! v TAT ‘ Feia1 foeeroor’
represented by the ‘Nearest &8l Iy e ?
Neighbour Analysis’ ?
(A) sETRd foawo
(A) Distribution of Settlements )
(B) chEEA= B
(B) Density of Population
(C) Tadar X
(C) Literacy rate
D) &i- T
(D) Sex ratio D) 3
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68.

69.

The with

relationship among the following :

(A)

Ergograph reveals

Relative Humidity and

temperature

(B) Climate and growing seasons of

ages
(®)
(D)

Temperature and rainfall
Temperature and pressure

Two statements are given below, one
is labelled as Assertion (A) and
another labelled as Reason (R) :

Assertion (A) : Fog is the result
of non-selective scattering of visible
EMR.

Reason (R) Atmospheric
constituents larger than the EMR
wavelength result in scattering of all
visible rays.

Select the correct option from the

codes given below :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

1S not correct

(®)
(D)

68.

69.
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STNUTHET TR el STsidied Tgdee

TRETIIEE Bl
(A) A& STsdl 9 ATHA

(B) BaMM o Ui ANESEl hIaTEe

(C) ATHM 9 TSi=gs

(D) 999 9 gadl <&

faam (A) : g% § 399 foggd ek

TS HAiereeh ferfertumen aitom 1.

HROT (R) : SCELONdIA ek ST

qUTersl foga gesia ugTden S
3| A qRemm e gva fevumen
fofertomer. gl

AT HIOW TR S 2

(A) T (A) 9 (R) &% A (R) ®
(A) T Irg TR 2T

(B) T (A) @ (R) 3T 31ed g (R)

T (A) T ITH TICR AR
(C) (A) 39 e Ry (R) B I 3

(D) (A) g% 3R W (R) & 3TTF 3T
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70. Match List-I with List-IT and select

the correct option using the codes

given below :

(@)
®)
()
(d)

(1)
(2)
3)
4)

List I

(Name)
Microwave
Near Infrared wave
Ultraviolet wave
Thermal wave

List II

(Wavelength)

8—9.2 ym
0.3—0.4 pm
7.5—11.5 pm

0.77—0.91 pm

Codes :

A) 3)
B) 1)
©) @)
D) 3)

(@ ) © @

4) @ @

2 @ O

1 G @

1 @2 @

JUN - 36219/I11—B

70. IRLI § IARI-II A= Se Je3ad

ETeltd Fendietd ara waE faer .

-1
(@)
(@ 3Afaer Eien @l
(b) TSR A U T
(c) oFt e @ed
(@) et el
Tat-11
(TSI
(1) 8—9.2 ym
(2) 0.3—0.4 ym
3) 7.5—11.5 pym
4) 0.77—0.91 pm
Hehdich
(@ ®) @ @
Aa & @ @ @
B O @ @ O
< @ @O 6 @
D & @O @ @
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71.

72.

Which of the following statements

are correct ?

(1) Large parts of the Gondwana
land were affected by glaciers

in the carboniferous period

Traces of the carboniferous

(2)
glaciation are found in the

Himalayas

3)

The Aravallis represent the

oldest hill range in India

(4)

The tertiary system is known as

the age of the Mammals
Codes :

(A) (1), (2) and (3) only

(B) (1), (3) and (4) only

(C) (1), (2) and (4) only

D) (1), (2), (3) and (4)

India’s Research Station ‘Himadri’ is

located in the :
(A) Northern Himalayas
(B) Western Himalayas
(C) Antarctica

(D) Arctic

71.

72.

JUN - 36219/I1—B
WAl Shivd fagm aIeR 3T®
(1) TiiedM ofesn |l 9N HTs - Thd

HIAGS TeHTcaes THIfOA et

(2) TEAIme) HETHE feHTear 379

SHATEesdld

[a) (o [oaY
SIAT HIATTST FAId ST 9ad

e faffee s

3)

A Yot HEAeiiel Uoft ehretraet’
BUH 3iae S

K3 K3
-
.

(4)

(A) (1), (2) s7fur (3) e
(B) (1), (3) 37T (4) Taa
(C) (1), (2) 37fur (4) e

D) (1), (2), (3) v (4)

Rar feisl’ SR %E ®IS o
e ?

(A) IR ferrer

(B) ufy=m ferrer™

(C) efrferat

(D) efdeeh
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73. Cl.’IOOSE.E the c.orrect state.ment about 73, AT AT SR A e
climatic regions of India ? f
(1) Stamp used 18°C isotherm of .
mean monthly temperature for (1) <Ml S A g faemmg
January to divide the country faamuamEEt e SEard
into two broad climatic I‘egions. '-IFE»-’«IIWI HUHQ arqHEET 18°C
(2) Stamp’s two major climatic T {9l AR el
regions are further divided into : : .
eleven regions depending upon 2) ! 5 ™ . i
the amount of rainfall and SRR L < JHE gaHH
temperature. TREIAT 9& 3ThRT yeEnHed faarfed
(3) Koeppen identified a close Hel IR
relationship ~between the (3) RIUH BEATH U1 &l fefawon-
distribution of vegetation and C. .
climate. T ST WY s
(4) Koeppen recognized five major (4) HIYTH U HE TATHN HHE
climatic groups, four of them are BT, A TR IS=HTTER
based on precipitation and one 3T T ATIETER STeNa ST,
on temperature. e
Codes : :
(A) (1), (2) and (4) only (A) (1), (2) TfoT (4) Tk
(B) (2), (3) and (4) only (B) (2), (3) 2for (4) e
(C) (1), (2) and (3) only (C) (1), (2) =ufor (3) e
D) (1), (2), (3) and (4) only D) (), @), @) 3 (4) Fe
74. Which of the following rivers is not 74, wEEE SO T m W i
cut by Tropic of Cancer ? T 2
(A) Banas (A) S
(B) Ken (B) 4
(C) Damodar (©) e
(D) Hooghli
(D) gl
35 [P.T.O.



75.

76.

Consider the following statements :

(1) As per 2011 census, the rural-
urban population share in
India is 68.84% and 31.16%
respectively.

(2) The growth of population in
India during 2001-2011 has

increased

The sex ratio in India has
decreased since 2001-2011

3)

The absolute increase in urban
population has exceeded the
absolute increase in rural
population

(4)

Choose the correct statement(s) :
(A) (1) only

(B) (1), (3) and (4) only

(C) (1) and (2) only

(D) (1), (2), (3) and (4)

Assertion (A) : Jowar is grown both
as Kharif as well as Rabi crop.

Reason (R) : Jowar is a rainfed crop
of dry farming areas where
irrigation is not used.

Codes :

(A) Both (A) and (R) are true and
(R) explains (A)

Both (A) and (R) are true but
(R) does not explain (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(®)
(D)

75.

76.

JUN - 36219/I11—B
el faum e = .

(1) 2011 =1 SFVATER, WRATdA
T g IR AhEed ael @l
3TIRH 68.84% =TT 31.16% 3TR.

(2) 2001-2011 TEIH YRAT AREEA
=l ) o e

(3) 2001-2011 TTAM WA S-T&H
JHIUMG S SATeA.

(4) T FRUST Sieh A arerdeT el
e derdE a9’ S| 2.

Iy fauq faer .
(A) (1) B

(B) (1), (3) 2foT (4) e
(C) (1) efur (2) werd

D) (1), (2), (3) 0T (4)

faam™ (A) : S’ @9 ehfr W oA

e emHHey faeRean.

&HIUT (R) : SO/ § ®Rearg I

TR MeRa W e WY fa=d

gfaen aTwelt S e

Hehdiah :

(A) (A) TfoT (R) @R 3T (R) § (A)
I ogF fovermm e

(B) (A) 3o (R) sRIeR 3T (R) § (A)
3 /g favemm A

(C) (A) SR R (R) I

D) (A) TF T (R) SN
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77. Identify the regions of India where | 77. YR 3/ Uo¥ 3fesen &Y a1 79
shale gas are found : R K
(1) Cambay Basin (1) e @R
(2) Kaveri Basin (2) == @R
(3) Krishna-Godavari Basin (3) FEM-TREN @R
Select the correct answer using the ETelal foeiedn ehahlgaR 3T I
codes given below : IREEINE:
(A) (2) only (A) (2) ®x
(B) (1) and (2) only (B) (1) =for (2) ®ed
(C) (1) and (3) only (C) (1) =nfor (3) wed
(D) (1), (2) and (3) only (D) (1), (2) =W (3) P
78. Choose the correct option : 78. g g9y fqaer
List I List II -1 TE-11
(1) Newsprint and —  Nepanagar, A———— J—
Paper Mills M.P.
(2)  Mysore Paper Mills —  Mysore, I el
Kamataka | @ K TR Hew — R wAF
(3) The Hindustan —  Vellore, @) fegeam —geifie —  ITTR, AT,
Newsprint TamilNadu | (4 qWfiedrs goifie  — =%, afiee
(4) Tamil Nadu Newsprint — Chennai, 7T AT o
and Paper Ltd. Tamil Nadu A
Codes :
(A) (1), (2) and (4) only (&) (1), (@) = (4) P
(B) (1), (2) and (3) only (B) (1), (2) =Aon (3) e
(C) (1) and (3) only (C) (1) 3ufor (3) werd
(D) (2) and (4) only D) (2) 3ufr (4) Fed
37 [P.T.O.



79.

80.

Which of the following statements
are correct about Bogibeel bridge,
India’s longest rail cum road
bridge ?

@))

(2)

It is over Brahmaputra

It is between Dhemaji and

Dibrugarh district

(3) The total length of the bridge

is 4.96 km

(4) It can withstand earthquakes of

magnitude upto 7 an Richter

scale
Codes :
(A) (1), (2) and (3) only
(B) (1), (2) and (4) only
(C) (1), (3) and (4) only
D) (1), (2), (3) and (4)

Which of the following is true about
proposed Bullet train route in

India ?

(A) Mumbai—Ahmedabad
(B) Mumbai—Hyderabad
(C) Mumbai—Nagpur

(D) Delhi—Nagpur

79.

80.

JUN - 36219/I11—B
IRAWIA Fald A {eodg IS Ial arfa
JATIGGd @eerden! v faem akeR
e ?

(1) & Ja JEPEn TeR e

(2) §R g gHnt oA fagme =
TTegaReT=H oTe

(3) = e TR IS 4.96 fRH oM

(4) ¥ qA 7 TR T digre=an Yeharen

HEA H% Ikl
Hehdich
(A) (1), (2) snfor (3) e
(B) (1), (2) iU (4) ek
(C) (1), (3) 2foT (4) e
D) (1), (2), (3) U (4)

AR YEIad gaie ¢ ART s
TICAEUh! IO AN SRR 3R 7

(A) HIE—3ITBAEE
(B) GT—eR
(C) HIT—TTTR
(D) feeei—rTg
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82.

83.

84.

has popularized the

concept of ‘Uniformitarianism’ in a
book ‘Principles of Geology’ (1830).

(A) James Hutton

(B) C. Lyell

(C) W. Penck

(D) A. Wegner

The feature ‘Scroll Lake’ is related

(A) Playa

(B) Karstic

(C) Glacial melt
(D) Riverine

‘Paternoster Lake’ is a

feature.

(A) Riverine
(B) Aeolian
(C) Karstic
(D) Glacial

Ventifacts are cut and sometimes

polished by action of wind.
(A) Abrasive

(B) Deflation

(C) Attrition

(D) Corrosion

81.

82.

83.

84.

JUN - 36219/I11—B

‘AT € Heheu
3o fafaues o1fw fSreAtarst (1830)
I QIR ARTIE hedl.

(A) = &
(B) & =
(C) =g, U
(D) T SR

‘T T’ ¥ &Y

TTe.

(A) A=

(B) TA@EMET W¥
(C) ferdr= fadem
(D) &M=
TR TR §
(A) =&

(B) IFam=

(C) IEEHET Jou
(D) e

ATl HEHS AT ¥ qeed 9

EAREE: o3 T[eSedld i
(A) STTEST]

(B) 3T9a@d

(C) H=rersoy

(D) =
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85. Match List-I and List-II and select
the correct answer using the codes

given below :

List I

(Theories/Hypothesis)

(@) Geosynclinal theory
(b) Tetrahedral Hypothesis
(¢c) Stationary wave theory
(d) Subsidence theory

List II

(Related Aspects)

(1) Origin of tides
(2) Origin of coral reef and atolls
(3) Mountain building

(4) Origin of continents and ocean

basins
Codes :

(@ G © @
Aa 3 @ @ @
B @ B @ @
< 3 @ @O @
M @ & @O @

JUN - 36219/I1—B

85. ARI-1 7T ARI-I1 A= e oo

TTelid Fendiehiqd ara waE faer .

(@)
b)
(c)

(d)

(1)
(2)
3)
(4)

aret-1
(faega/Teiereh)
ygoit fagra
aGJSF TR
feer T s
e fasia
ret-11
(Weifera geeh)
TRT- SR FfHd
TeTa R o heRurgd fAfH
Tefq fAfHd

03 K3
.
.

@ B © @

A G @ @ @

B @ & @ @

< & @ @1 @

M @ & @O @
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86.

87.

88.

According to Strahlen’s stream
ordering when a stream of 2nd order
joins 3rd order stream, the order of
higher order stream will ...........
(A) Increase

(B) Decrease

(C) Remain same

(D) Be added

The river with meagre source of
water that is left after the river
capture is known as ...........
(A) Rejuvenated River
(B) Captured River

(C) Captor River

(D) Misfit River

Which of the following factors
influence the type and rate of
weathering ?

(1) Soil
2)
(3)
4)
5)
(A)
(B)
©)
D)

Climate
Vegetation cover
Rock structure
Topography

(1), (2), (3) and (4)
(2), (3), (4) and (5)
(1), (2), (3) and (5)
(1), (2), (4) and (5)

86.

87.

88.

JUN - 36219/I11—B

R a8 hAdGATaR Siegl fgda
USRI YaTE qrd ShHThIAT JaTad
fHeadTd degl 3= ShHeG JaTeral shHegal

(A) ded

(B) = B

(C) IR Ted
(D) fHesfaer wm

T IR TRHEY Teq JHIOMd qrot
ISy FAGd A

(A) qTEsSiatd et
(B) =ifa &t
(C) I HIOR
(D) forrma <t

fIEROTE YR o SMTell Welieiisht ol
IO Feh i A ?

(1) 7
(2)
3)
(4)
(5)
(A)
(B)
(®)
(D)

T

ALl SToBIEA

Tl =T
9{{7{5‘1

(1), (2), (3) =fur (4)
(2), (3), (4) afur (5)
(1), (2), (8) afur (5)
(1), (2), (4) for (5)
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89.

90.

Which one of the following groups

is the product of erosion ?

(A)

Drumlins, Moraines, Aretes

(B) U-shaped valleys, Ventifacts,

Natural Levee

(C) Eskers, Fjords, Outwash plain

(D) Cirques, V-shaped valleys,

Demoiselles

Assertion (A) : Deflation basins are
erosional features and may be upto

several kilometers in diameter.

Reason (R) : Removal of sand
particles by the wind is a cause of

Deflation basin formation.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) the

explanation of (A)

is not correct

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

89.

90.

JUN - 36219/11—B
SUEROH TR FAA WeATeTdeh! Hiorl
T Y ?
(A) ferre-frdt, fevile, Tae
(B) ‘g-THRREN T, dgse, @i
e
(C) ferie e, fRatle, femsaie HaM

(D) fewTeet, I-AehIr= g4, SHEHOH

faem (A) : T9eET @R IR0 Y&

3T 9 1 fohcaieh TRl Smemaia o/

TTehd.

&HIUT (R) : 279964 @ A &
TR aT=aTgR  H&T0 e
HROT B

AT HIOW TR S 2

(A) T (A) 9 (R) 3T 3¢ (R) ®
(A) o I TR B

(B) T (A) @ (R) 3T9 3Ted g (R)
T (A) 3 T TAEIHIU AR

(C) (A) 3T 3T& WY (R) & h 378
(D) (A) 9% 3¢ WY (R) € 3F e
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91. The temperature at which air needs | 91. a7 :\q-gaﬁ' AT <1 AIHHETRd 9
to be cooled to reach saturation S AT R T A,
1S teeriee e,
(A) Tafeg qIAE
(A) Dew-point temperature
(B) sReSdl {EM AIHM
(B) Dry bulb temperature
(C) Wet bulb temperature (C) S rars T
(D) Boiling point temperature (D) Scherd feig drqem
92. Arrange the following in terms of | 92. ATl T Tedehd =l Satcl shHm
decreasing albedo : ofldr
(1) Fresh show (1) =M YSolell 9%
(2) Pine forest (2) TET oA
(3) Glacier ice (3) Teweldiel s
(4) Loamy soil (4) dESET gal
(A) (D), (3), (4), (2) (A) (1), (3), (4), (2)
B) (1), 3), (2), 4) B) (D), 3), (2), (4)
€ 3), (1), (2), 4 © @), 1), (2), 4)
(D) (3), (1), 4, (2) (D) (3), (1), (4), (2)
43 [P.T.O.



93.

94.

95.

Assertion (A) : At midnight, net
radiation is negative.

Reason (R) : In the afternoon, net
radiation decreases as insolation
decreases.

Select your answer from the codes
given below :

(A) Both (A) and (R) are true and
(R) is proper explanation of (A)

Both (A) and (R) are true but
(R) is not the correct explana-
tion of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(©)
(D)
The branch of climatology which
analyzes proxy data to reconstruct

past climate is named as

(A) Synoptic climatology
(B) Dynamic climatology
(C) Paleoclimatology

(D) Regional climatology

These clouds are high, white and
thin :

(A) Cirrus
(B) Stratus
(C) Cumulus

(D) Stratocumulus

93.

94.

95.

JUN - 36219/I1—B

faem (A) : AeRnimes, feaes g B0
T4

SRUT (R) : TURT (FEAUR) , F1ees ar
Hed A S gAded Hed S

EcAte] GehdiehTUeh! I foaeheq faret :
(A) (A) T (R) T=l ISR Tga (0T
(R) ® (A) ¥ I TR0 AR,

(B) (A)d (R) Sl SR 3Ted g (R)
T (A) T TH TISEHRIU AT

(C) (A) T =R 38 T (R) T I 3T
D) (A) T I e W (R) T IR 378

BRSNS Tmen St gidas Se
forgetoor ahTadial el GAde
FIOATEST hId & TR
Y UL

(A) FHESTG (Synoptic) TATHMSITE

(B) TIider SATHMRITS

(C) QU BAHTHIIMEA

(D) 9Rf¥Te BATHHIIA

T T 39, IR} 9 e swam
(A) dr™

(B) ¥eH

(C) g

(D) IR
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96. The alphabetical symbol (List-I) in

Koppens climate classification and
their matching climate type (List-1I)

are given.

Match List-I and List-IT and select
the correct answer from the codes

given below :

List I
(@) Am
() BSh
(¢0 ET
(d) CWb
List II

(1) Tundra climate
(2) Hot semi-arid climate
(3) Tropical monsoon climate
(4) Subtropical highland climate
Codes :

@ & © @
A 2 3 @ @
B) @ @ QO @
<€ B @ QO @
D @ 3 O @

JUN - 36219/I11—B

96. SHIUTAT GATHT TR0 I0NeRHT Tag

(AE-1) 30T =R S[@UIR - gAHH
TR (FE-11) fooer emmea.

-1 & ARI-11 I Sred Sjesad @etia
Hehdlehiqd g e freen .

ret-1

(@ Am
(b) BSh
(¢ ET
(d) CWb
Fret-11

(1) g &M
(2) SO AHR TATHMH
(3) IWhicTHT WA TAHMH
(4) IU-SURRfeHHE Fedd gATHN
Hehdich

(@ ®&) @ @
A @ & @ @
B & @ @O @
e & @ @O @
D 2 B QO @
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97.

98.

Why is surface air temperature
measured at a standard height of 1.5

meters ?

(A) The winds are lighter at this

level
(B) By international law

(C) To ensure an accurate reading

insulated from surface effects

(D) To allow the observe to read the
temperature at eye level

without stooping

Which statement is incorrect

regarding the Coriolis force ?

(A) It is always directed at right

angle to the direction of wind

(B) It deflects winds to the right in
northern hemisphere and to the

left in southern hemisphere

(C) It directly affects wind speed

(D) It is strongest at the poles and

weakens equatorwards

97.

98.

JUN - 36219/I1—B

JSIIHTa=AT goid AMqHE § 1.5 HIX A

JHIOTG S=el T HISTA SId ?

(A) TS WU dR BASh 8

(B) ST SHIEFEIER

(C) Ys3vITr=A1 YRUHTIRM 3T A

(alla

HIIR=d

H LIS

(D) FOererTar Well 9 dehal dr9q

TSIl /a3

Nes N

HINTH TAT e Telicideh! shIvd
faum g e ?

(A) Tt foem &€ araren fesieh
EAECARIGIIC RS

(B) S Tiendld @ oI Seidiehe
afor < faror Meeld s Sethe
fagfua s

(C) = e gRomy ar=gr=a amer gl

A W

fors[agmehe FHEAd Il

(D) @ YaER SR
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99. Important

characteristic of
atmospheric layers (List-I) and
atmospheric layers (List-II) are
given. Match List-I and List-II and
select the correct answer from the
codes given below :

List I
(@) Reflects radio waves back to
earth
(b) Fall in temperature stops
(¢) Temperature falls with height
(d) Contains most of ozone
List II
(1) Stratosphere
(2) Troposphere
(3) Ionosphere
(4) Tropopause
Codes :
(@ b)) @© @
A 1 @ 2 O
@ & 1O @ @
o o 6 @ @
D & @ @ @

100. Assertion (A) : The Siberian

climate is conspicuosly absent in the
southern hemisphere.

Reason (R) The southern
continents are marked by the
broadness in the high latitudes.
Select your answer from the codes
given below :

(A) Both (A) and (R) are true and
(R) is proper explanation of (A)
Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

©)
(D)

99.

100.

JUN - 36219/I11—B

SISO TR Heware A (IRl 1)
anfor araeReme R (AE-11) feoe
3. ARI-1 F AR - 11 3= St o
T HehdlehIqd g fere
ret-1
e ol yedire wafda g
AIHMIA oS oTeld
AT S8R Hed
JqHED S SR 3T STl
arer-11
EGIETE
(2) U
(3) SATIATEO
(4) &raform
Wehdiah :
(@) ()
A 1 @
B) B @

<o o 6 @2 @
D & @ @ @

faam™ (A) : IFaREA gaME € <fero
Tieneld geeeediayyl ST 3T,
HIUT (R) : =0 AARMHE fe0hera
e fawga emRa.

(@)
(®)
(c)
d)

(1)

(c)
(2)
4)

(d)
3)
(2)

T Geharehtuesh! A4 faseq feret .
(A) (A) F (R) Trg! sIsR 3fed 3fur
(R) T (A) ¥ Ig TR 3.
(B) (A) 9 (R) T=I sIsR 3Ted W (R)
T (A) T IH TSI AR
(C) (A) B =R 218 W (R) ¥ I M8
(D) (A) T TH 3¢ WG (R) § SR 3T
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ROUGH WORK
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